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Example Candidate Responses — Paper 4

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Business, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

9609 June 2023 Question Paper 42

9609 June 2023 Mark Scheme 42

Past exam resources and other teaching and learning resources are available on the School Support Hub


http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 4

How to use this booklet

This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments
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How the candidate could improve their answer

» The candidate did not attempt to analyse the overall impact of BV’s leadership strategy on BV in their answer.
Three elements of BV’s leadership were analysed well, but that was only enough for Level 2 AO3.

» In this case, it was not about analysing the impact of elements of strategy (like emotional intelligence and
organisational structure), it should be about analysing what was good and what was bad about BV'’s leadership as
a whole. Candidates who did this achieved Level 3 AO3 and marks in the top level of this skill.

This section explains how the candidate could
improve each response. It helps learners to improve
their exam technique.

Common mistakes and guidance for candidates

A strategy is a combination of many elements. When candidates are asked to analyse and evaluate strategy, we
expect them to bring those elements together and develop arguments about the strategy as a whole. This is one of
the main differences between the other papers in this suite of examinations and this one. The strategic approach
required to be successful in this paper must be recognised and candidates should be taught to widen their answers to
encompass more than just individual strands of analysis and evaluation.

This section lists common mistakes as well as helpful
guidance from the examiner. This will help your learners
to avoid these mistakes. You can use this alongside the
relevant Examiner Report to guide your learners.
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Question 1

Example Candidate Response — high Examiner comments
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a The candidate gives a definition
of leadership. AO1 (knowledge and
understanding) can be awarded

for knowledge of leadership and

the elements of leadership and for
knowledge of strategic management.
To be awarded all of the AO1 marks,
candidates need to show both of
these.

9 AO2 application is awarded for
applying knowledge of leadership
or strategic management to the
scenario of BV. Repeating pieces
of the data is not application.
However, since the candidate
shows knowledge of leadership,
this application of Rohit’'s emotional
intelligence can be awarded.

e Here is the start of a chain

of analysis about the impact of
Rohit’s emotional intelligence on

BV. In this case the employees are
more motivated, leading to more
productivity, reducing levels of labour
turnover. This is a good example

of Level 2 analysis, which is a
developed chain of analysis based
on an individual element, in this case
emotional intelligence.

o This is a judgement, but it only
has limited supporting evidence.
The question asks candidates

to evaluate the extent to which
leadership contributed to BV’s
effective strategic management
and this judgement is only about a
small part of leadership — emotional
intelligence. Therefore, it can only
be based on limited supporting
evidence.

The candidate applies their
knowledge of leadership to the data
about BV. In this case the candidate
chooses decision-making as an
element of leadership (although
there is no explicit knowledge of this
given by the candidate) and Rohit’s
decision to sell 45 % of the company.
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Examiner comments
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@ The candidate starts another
chain of analysis, this time about
Rohit’s decision-making. Again

the chain of analysis develops,
but it is just about the one element
of leadership, so it can only be
awarded at Level 2 AO3.

@ To be awarded all of the
AO1 marks, the candidate needs
to demonstrate knowledge of
both leadership and strategic
management. Although the
knowledge is limited here, it

is awarded as the candidate
shows knowledge of strategic
management (providing a sense
of direction). It would have been
better if the candidate had given a
better definition of what strategic
management actually is.

@ While this is a judgement that
uses the wording of the question,

it does not have any supporting
evidence. It makes a simple
statement and expects the examiner
to connect this to the previous point.
Good evaluation would make this
link clear.

Q The candidate offers another
piece of knowledge about
leadership. All the AO1 marks
are awarded at this point in the
response.

@ The candidate gives another
chain of analysis that develops
from leaders needing to effectively
manage change.

m The candidate makes another
judgement about the importance
of leadership, this time with limited
supporting evidence. However, this
only reaches Level 1 AO4 because
it is a repetition of the previous
analytical point. Good evaluation
should make a judgement and
then explore how that judgement
was made, weighing up different
perspectives and arguments.
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Example Candidate Response - high, continued Examiner comments
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(paying workers through the
pandemic) further showing the
importance of leadership. This
pushes the answer to the top of
Level 3 AOA4.

Mark for AO1 = 3 out of 3
Mark for AO2 = 2 out of 2
Mark for AO3 = 6 out of 8
Mark for AO4 = 7 out of 7

Total mark awarded = 18 out of 20

How the candidate could improve their answer

+ The candidate did not attempt to analyse the overall impact of BV’s leadership strategy on BV in their answer.
Three elements of BV’s leadership were analysed well, but that was only enough for Level 2 AO3.

* In this case, it was not about analysing the impact of elements of strategy (like emotional intelligence and
organisational structure), it should be about analysing what was good and what was bad about BV'’s leadership as
a whole. Candidates who did this achieved Level 3 AO3 and marks in the top level of this skill.
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Despite being awarded all the AO4 marks in this response, the evaluation could have been improved. The best
evaluations looked at how the judgement might change depending on different perspectives. One such approach
would be to suggest how important leadership might be to BV in the short-term, compared to the long-term.
Another approach was to argue that different stakeholders may value the contribution of leadership in different
ways; perhaps the employees see leadership as crucial to BV’s strategic management. Whereas the customers,
who may not have any interaction with BV’s leaders, may not see it as important at all.

Candidates should not leave all the evaluation until the end of their response. This candidate attempted to
evaluate earlier in their answer, but it was done too quickly and seemed to be perfunctory. Making judgements and
evaluative comments throughout an answer is sensible and makes for a better strategic response.
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Example Candidate Response — middle Examiner comments
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a The first two sentences in this
response do not add to the quality
of the response at all. They merely
reword the question which should be
avoided.

@ This is a good example

of tautology as the candidate

uses the same words to try and
define something. By stating that
‘leadership is how the manager
leads the company’, the candidate
shows no knowledge and wastes
time.

@ The candidate simply states that
leadership is linked with these other

- | areas of the specification.

There is some knowledge in
this statement and in this case it is
knowledge of emotional intelligence.
This is an element of leadership and
can be awarded a knowledge mark.
Many candidates choose to start
their answer with a definition.

e The candidate attempts analysis
here. However, increasing the

| |employees’ support for the business
is not a good enough impact to
award any analysis marks yet.

@ The candidate applies their
knowledge to the organisation chart
and shows that they understand
what it is showing. This is the skill of
application (AO2).

The candidate demonstrates
knowledge (AO1) about types of
culture.

@ A very simple piece of Level 1
AQ3, showing that this may make
employees less resistant to change.
The candidate could develop this
through a chain of analysis by
looking at how this may have
effected BV.
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Examiner comments

The candidate offers another
piece of application by relating this
to Rohit paying employees through
the pandemic. As long as it is
relevant, and knowledge has been
demonstrated, candidates can gain
their AO2 marks using any of the
data given in the context. At this
point in the response, all of the AO2
marks are awarded.

@ The candidate attempts to define
what strategic management is, and
is awarded with AO1 marks. To gain
all of the AO1 marks in this question,
knowledge about both leadership

- | and strategic management has to be

demonstrated. This candidate does
this, so all of the AO1 marks are
awarded.

@ The candidate’s response
loses focus on the question. The
fact that BV sold 45 % to a venture
capitalist and became a public
limited company (PLC) may be
relevant, but the candidate has not
made the relevance clear. In fact,
the candidate states ‘all this is not
about employees or being a good
leader’. Perhaps they mean that
therefore this shows that leadership
did not contribute to the strategic
management of BV, but this is not
clear.

@ The question asks about

the extent to which leadership
contributed to the effective strategic
management of BV. The candidate
may have been trying to argue that
it did not, because other things were
more important. However, because
they do not state this, their answer
does not answer the question.

1
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Example Candidate Response — middle, continued Examiner comments
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& to demonstrate.
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judgement with better than limited
supporting evidence. There is some
development, bringing together
some of the arguments that were
attempted earlier in the response.
Although good evaluation often does
follow on from good analysis, we are
assessing each skill separately in
this examination. Therefore, despite
the relatively weak attempts at
analysis earlier in the response, this
conclusion is awarded Level 2 AO4.

Mark for AO1 = 3 out of 3
Mark for AO2 = 2 out of 2
Mark for AO3 = 2 out of 8
Mark for AO4 = 3 out of 7

Total mark awarded = 10 out of 20

How the candidate could improve their answer

* Marks could only be awarded for what the candidate wrote, there can be no ‘reading between the lines’ or attempts
to interpret what they may have meant. It was essential that every sentence the candidate wrote in answer to a
question was linked to answering that question. Sometimes this might make an answer sound repetitive, but it
keeps the candidate on track and it is not unreasonable to continuously refer back to the wording of that question
to make sure it is being answered. Candidates must be very careful to keep their answer relevant.

» The skills of analysis and evaluation are separate and, in this examination, did not depend on each other. Too
often, candidates mixed up their analysis and evaluation and did not really know where one finished and the other
started. Teaching the clear distinction between analysis and evaluation would help candidates be more successful
in this examination.
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Example Candidate Responses — Paper 4

Examiner comments

o This is not linked to answering
the question and the candidate
cannot be awarded marks for any of
the skill areas.

The candidate shows some
knowledge of decision-making as an
aspect of leadership.

€@ The candidate shows knowledge
about a leader needing a strong
work ethic.

o The candidate applies their
knowledge of the data about

BV and Rohit’s decision to pay

his employees throughout the
pandemic. However, they do not
analyse why this is important, or the
effect this has on BV.

@ stating that his decision

was a ‘smart choice’ lacks the
sophistication required as it does not
explain why it was a smart choice or
how it helped the business to have

a motivated and loyal workforce that
reduced labour turnover. Candidates
should understand what leadership
is and also how good and bad
leadership can effect a business.
This is the skill of analysis that is
being examined here.

The candidate shows more
knowledge of leadership. However,
as they already show two pieces
of knowledge about leadership,
the only way to improve their AO1
mark is to show knowledge of the
other part of the question which is
strategic management. Every aspect
of a question must be covered to be
awarded all of the marks for AO1.

e The candidate offers a second
piece of application. All of the AO2
marks were awarded by this point.
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Example Candidate Responses — Paper 4

Example Candidate Response - low, continued
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Examiner comments

This is a common-sense
approach to this question and
suggests that the candidate is not
using the skills required at this level
to answer it.

@ The candidate does not offer a
real impact on the business at the
expected level. ‘For the better of the
company’ is too vague as an impact
of leadership.

@ The final sentence is awarded
Level 1 AO4 for 1 mark. Itis a
judgement and there is a touch

of limited supporting evidence,
however, it is very limited.

Mark for AO1 = 2 out of 3
Mark for AO2 = 2 out of 2
Mark for AO3 = 0 out of 8
Mark for AO4 = 1 out of 7

Total mark awarded = 5 out of 20

How the candidate could improve their answer

+ Candidates sometimes find it difficult to start answers to questions such as these. There was no one optimal way,
but a definition would be a good way to start an answer. It could help the candidate think about the right area of the
syllabus and, as long as it is relevant and correct, should guarantee some AO1 marks are awarded. Each sentence

of a response should add to the marks awarded.

» |t was expected that candidates who have studied A Level Business develop an appropriate vocabulary. This does
not just mean using the words from the syllabus, but also a vocabulary that can analyse and evaluate. The average
person who has not studied this subject will often say that a business is ‘good’ or ‘bad’, but International A Level
Business candidates should be able to delve deeper. Chains of analysis should be built using concepts such as

revenue, profit, motivation, success, and many others.

Common mistakes and guidance for candidates

A strategy is a combination of many elements. When candidates are asked to analyse and evaluate strategy, we
expect them to bring those elements together and develop arguments about the strategy as a whole. This is one of
the main differences between the other papers in this suite of examinations and this one. The strategic approach
required to be successful in this paper must be recognised and candidates should be taught to widen their answers to

encompass more than just individual strands of analysis and evaluation.
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Example Candidate Responses — Paper 4

Question 2

Example Candidate Response — high Examiner comments
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The maijority of this introduction
repeats the question and data.
However, the candidate shows
some AO1 knowledge at the end of
the paragraph when they assert that
the local-globalisation strategy may
be suitable where there are different
external influences.

Selectively using appropriate
figures from the data can be AO2
application and, on this occasion
the data shows that the pan global
strategy would be more cost
effective.

The candidate offers a chain of
analysis about the impact a more
cost-effective strategy would have
on BV.

@ Level 3A03 requires not just
the analysis of one piece of data,
but of the entire strategy. The
candidate brings together the higher
profit margin with the cost-effective
element to give a wider piece of
analysis and reaches Level 3.
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Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments
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Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments
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Total mark awarded = 18 out of 20

How the candidate could improve their answer

This response only had one piece of Level 3 AO3 Analysis which showed that the quality of the skill was more
important than the quantity. Although the candidate did not use the majority of the data, or the full range of possible
points, it was assumed that the candidate had been selective and chosen the arguments that best supported the

conclusions made. This allowed the candidate to focus on a judgement that could be justified within the time given for
this examination.
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Example Candidate Responses — Paper 4

Example Candidate Response — middle Examiner comments

SRR OB @oé oA Ne ot S oo ]|
: _rﬂmc.\c,_e;_ows a«s\e%\\ CwoeeaS. Q2. 0w e
2N :\:\(xc‘ca‘nf\% RSO DI SRS,
; Ko ee \oaéog \wm\ﬂmj - depedenenk
- 0 S el &e - PAPOGR .m& SPen o e emacleney a The candidate gives two
L SececvmosT - 002 Aco,meﬁ\-.@(}';i%.wf’%gi‘f Yo Xe | pieces of AO1 knowledge in
] COQeMtANRTS L e KR O Nosescesss . Comnpsii~C | this introductory paragraph; the
T S e knowledge of the contents of a
SRR EN RS - A s VS NCS 0 SO TP (3 VA T N — marketing plan and what is involved
Aecr&nm e ...ncﬁ:«ﬂuo, (Corees. o%o:nw o dectsion in force field analysis.
ﬁkfdb‘\%(\j Pmo\u’J

\:3%\\’\0_) c:cm?e NS - WP, o2
STEAN 9‘((‘0001‘(\\% QQ I =N PN S X
N0 SN when :_\m_@%ﬂm\asw e DO .x:m\ios‘j_

LAD R Dok OS ais TS oo oo
CEedGe e CaecX LA Co
B eceR__ CoragEh - Qe)\‘ﬁ-\“v\f"‘aQ LIRS

ez 407
CoxR. ct)(\'v\-;,e\—a\m_,\ _Q{_\_g_}g{"{-& NN i@ SO
Aear. oogomR | Wesangy | ey o @OREON | Aos3OSS.
. eus\«“\c)c\ PSR =e = o I oV S Q\‘;)QC,\'\\J'@ e AN |
RN remeaete Mol L SOSeTOMNR L oS Yo
fredese L oeqen. B—LVOS@SM O RTRS - I osdeS
e aetese gm&%h TOeCXeXT | TErese S6
Lo NSRS Gy RG-S SRR I
Loy N Moo anieconmss S ey
1S Prey 2D con QONTEY  (aSVOmer Nedally |
S — QSR seeS e\ ed\e
e e \\\cca\g\(‘cs CN\ofmed L oedoenlsS I . Qe \m*c-!)

9 The question asks candidates
to advise the Board of Directors

on a marketing strategy, not to
analyse and evaluate approaches
to developing a business strategy.
This candidate does not follow this
instruction and spends a significant
amount of time answering the wrong
question.
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments
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@ Despite the majority of this
point being focused on the wrong
question, there is some knowledge
(AO1) and application (AO2) that is

LSRN eavel RS = LODEONOR .. AENEAACONYS . )
KT v IR relevant to this question.
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BT Sese. e e S0 which strategy is likely to be more
S @%wo)‘ o= = successful. This is just one element
of the decision and the analysis
does show development, but only of
this one piece of evidence and not
the strategy as whole. This is why
the candidate’s answer does not
reach Level 2 AO3.
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

e The candidate makes it clear
what their recommendation is.
However, it is not focused on a
marketing strategy. Using core
competencies is an approach or
a tool, not a strategy by itself. It is
vital that candidates answer the
question.

v | | Mark forAO1 = 3 out of 3

NESNY s e S >~ N - SRt

[oXRY SvoXS VSR coce |

| R dovesic . SPea®S  wn Qe \ovS e Mark for AO2 = 2 out of 2

- %Wcmmsz:r\\c oNisies FRCYAN Coceep

Mark for AO3 =4 out of 8
Mark for AO4 = 3 out of 7

Total mark awarded = 12 out of 20

How the candidate could improve their answer

Many candidates did not fully read and understand the question. In this example, this led to an unfocused answer
that did not provide a coherent strategy for BV. Benefit of the doubt marks were awarded where possible. Candidates
needed to understand what each question was asking and to target their analysis and evaluation to answer this
question set. It can help to break each question down so that it is clear who is being advised and about what. A plan
for the answer can also help candidates avoid going off on a tangent and answering the wrong question.
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Example Candidate Response — low

Examiner comments
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Marketing strategy includes
many different elements and, as
the question is open, any marketing
knowledge shown can be awarded.
This knowledge about advertising is
relevant and correct.

@ The candidate moves away
from marketing knowledge and
shows irrelevant knowledge about
mission statements, SMART
objectives, and PEST. This seems
to be a case of a candidate stating
things they know and not focussing
their knowledge on what is most
relevant to answering the question.

The candidate shows some
more marketing knowledge (AO1)
involving USP and market research.
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Example Candidate Response - low, continued Examiner comments
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o The candidate gives a brief
analysis about the benefit of market
research. There is no chain of
analysis and this does not build into
a coherent argument for or against a
marketing strategy.
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L — I —| | Mark for AO1 = 3 out of 3
Mark for AO2 = 2 out of 2
Mark for AO3 = 1 out of 8
Mark for AO4 = 0 out of 7

Total mark awarded = 6 out of 20

How the candidate could improve their answer

This answer was unfocused and did not present a marketing strategy in answer to the question. While there was a
reasonable base of knowledge and some use of the given context, the candidate did not pull it together to argue for or
against a specific strategy. If the candidate had organised their data to do this, then they may have had more success
with their response.

Common mistakes and guidance for candidates

+ Many candidates answered this question as if it had asked for an approach to develop a strategy. This hindered
many answers and did not allow candidates to answer the question set. As with any examination, a range of
questions could be asked and candidates must be prepared for whatever question, within the confines of the
examination structure and syllabus, is asked.

*  When candidates are asked to advise on something (in this case a strategy) there is no need to cover every
possible outcome. Candidates, in the time given for this examination, needed to be selective and focus on what
they believed to be most relevant. Choosing what to include and what not to include is an essential skill and one
that can be seen in a good evaluative answer.
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